5.12 Proportions with Right Triangles Day 2.notebook

January 10, 2019

DO NOW
In the diagram of A UVW below A is the midpoint

of U V', B 1s the midpoint of Uw W, C 1s the midpoint
of VW, and AB and AC are drawn.

It VIW="7x-3and 4B = 3x + 1, what 1s the length
of VC?  Am=4\yw U
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The altitude to the hypotenuse of a right triangle is the mean
proportional between thelengths of the legs on the hypotenuse
("altitude rule")
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The leg of a right triangle is the mean proportional between
the hypotenuse and the projection of the leg on the hypotenuse

("leg rule")
c

oo AB_AC  AB_CB
n AC AD CB DB

|
k projection D L IB

projection
EX: Findx. 9 i %
X 7o
X = B
X = (o

Jan 9-8:21 AM

In right ABC, altitude CD is drawn to hypotenuse AB.
Find the value of x.
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In right ABC, altitude CD is drawn to hypotenuse AB.
Find the value of x.
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